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[BFN403] A bond which is redeemable in 5 equal proportion every other year in its 50
years tenoris a..................
Serial bond

[BFN403] Authorized share capital A¢a€5A!500,000,000 ordinary share of 50k each.
Issued, 60%. Called, 80%. Paid-up, 60%. How much is the Issued?
N15m

[BFN403] Tech-Touch issued a 100 year bond in 1986. In 2011, obligations on the
bond were takenover by Tetra-Phlide PLC. These bonds must have been................
Transferable bond

[BFN403] A Surety bond and a guaranteed bond are......
technically the same

[BFN403] Fidelity Bonds cover possible...................
Integrity and confidence defaults of employers

[BFN403] A fall ininterest rate results into........ on fixed income investments.
Capital gain

[BFN403] Dividend payable on non-redeemable preference shares essentially
constitute........
a perpetuity

[BFN403] Z = ACETa€™X i Pi, where: Xi = theith security in the market, and P i =
price of the ith security. Therefore Z means
total market capital

[BFN403] The pecking order hypothesis suggest that ............... should be the last option
in firms source of long term financing
Equity

Whatsapp: 08089722160 or click here for TMA assistance

Practice E-exams & Chat with course mates on noungeeks.net


https://bit.ly/3Rb4Vxn  
https://T.me/NOUNSTUDENTSFORUM
https://wa.me/message/M3U4JPAOT4FEB1
https://noungeeks.net
http://www.a-pdf.com/?wm-demo

